[ #=1 =% |

FEMBDIEFRANRE

SHMIEE

e EILTWE

4 EILTHREELMXFEE (C14m) £ETE



FEMERERS

8 ELTREELULHX

[#=2 GEERR)

£ FR HE *%8 2F
EiEIZE
1= 506, 961, 881
F B (-14m)
11X 506, 961, 881
BT
1= 27, 652, 205
HEBEEAT BERA 613.00m3., MHEHL (BEAMER) 795.00m 2., ##HH L (RENMER) 25.00m 2.
1 27,652, 205 HHE1I L (BEAMER) 112.00m 2., #AEH LAIEE BEAMER) 1,003
N7
12 479,104, 556
T—Y VBT =y UBRERBMELR 1.00X, L—T 1 VTR 742.00m 2, MEAMEEHEL 2, 402.00m 2,
13t 390, 768, 246 M EIBZEEA 4,155.00m 2 . SEMIHATL 68,939. 00k g. SAEFMITHAIL 44,574.00k g .
S IAANL 98,697.00k g . SARAANTIHESL 37,678.00k g . SAMANTHASL 68 953.00k g. BAFASKA 4. 004,
Bl =H A 8. 004, BT 300.00k g, MAMERAAITHES 12,877.00m 2,
a9 1—4TE% 2,250.00m 3., #@KE 20.00m
r— U#EKEAT —y UEAEEERMA - RS 1.00E., 7—Y UK (—y EERERAR) 1.00E.
1% 32,072,245\ 7 — YV VR (04 > FAK) 1. 00K
PRI hEMEA RBIEAEL) 12,469.00m 3., gL 650.00m 2
E=S 42,040, 150
EID kR IL—T 4 VT EE% 623.00m 2, #AINITHAST 1,863.00k g. AEkAF 120.00A&, HEKAFHAL 1,072.00k g
ES 14,223, 915 SR B LAATHAS 161.00m2, 325 ) — MTEX 187.00m 3. ET A v Z#E{ 30. 004&.
FIFEEILZILITER 8.00m 3
RE&T
1= 205, 120
REXE EHFERE 1.00=
11X 205,120
BEHEE
1= 2,228,181
BIEEH
1= 2,228,181




FEME (BERNRR)

[#x2 GEERR)

#E FBILTHREELMRFEE(C14n EETSE
&% HE ] 2E
ICTERTRE

1= 2,228,787

ICTER T RS RS2 1,00, HAER QEREZY) 100X, BET R+ 100X, 2ILFE—LAZE 1.00=,
1= 2,185,787 BIERT— 2 B#E 1. 00X

BHERE EBRER 1.00=X
1= 43,000




FE M (FERE R

8 HUTRBERUBXFEREC14mEETE

(=3 (GEREEH) |

AR He &% 2E
BEEIEE
1= 506, 961, 881
REIEE
11X 283,785, 497
HBEREE GD
1= 131, 355, 344
HEREE (BELE) Efiil - 2 VB, REE. &RBE
1= 88, 314, 281
HBREE (F)
11X 41, 368, 089
HERERESR
1= 1,672,974
RiGEHRE
1= 152, 430, 153
IER(
11X 790, 747, 378
—BEEEZE
1= 99, 866, 324
TR E
11X 316, 298
T H{f%
11X 890, 930, 000
EEAIER
1= 2,228,181
HRE
11X 1,881, 213
REEEE
1= 4,110, 000
B2 EBHME
1= 4,110, 000




FE M (FERE R

e ELUTWRESLBREE(C14mEETE

[#t3 (GEeaEgi) |

&5

b
el

o]

BHFEIEME

1=

895, 040, 000




